1. GGT can mediate "protein S-thiolation". This consists in:
A. oxidation of selected aminoacids by direct interaction with intrinsic GGT sulfhydryl groups

B. attachment of low mol. wt. thiols to protein cysteine residues 

C. formation of new disulphide bonds in protein structure

D. all the preceding

2. GGT-mediated oxidation of TNF-alpha receptor-1 (TNFR-1) induces:
A. alterations of structure, but not of function

B. no alterations, neither in structure nor in function

C. increased binding affinity for ligand (TNF-alpha)

D. alterations in cellular trafficking of the receptor

3. Distinct GGT/protein complexes ("isoforms") exist in serum. Mark the wrong statement:
A. GGT isoforms can be separated by HPLC/gel filtration techniques

B. isoforms present with different molecular sizes

C. four GGT isoforms are detectable in serum

D. not four, but five

4. Involvement of GGT in cardiovascular diseases includes a possible role in:
A. progression of atherosclerosis

B. modulation of arterial tone and blood pressure

C. pathogenesis of aortic valve disease

D. all the preceding

